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DAY 2 — Converting Vertex Form to Standard Form

Name:

1. Write each equation in standard form.

a. y=(x+2)2+3 b. y:2()c—1)2
Y= X ¥ ?,w‘f)_f} Y= 3 (x* 2 +1)
y= wr b Y- e d

2. Determine whether the equations in each set are equivalent.
2

y=(x+2) = xHlc+f ) y=—(x+1)"+3
y=x"+4 . y=-x"-2x-4

L0 e

Y= XD 43

>/ = ~><:2 - xR
.7
3. a. Which relation has the same graphas y=2x"—12x+19?

i y=2(x=2)"+17
i y=2(x=2)"+11
ii. y=2(x-3)"+1

Justify your choice. =)

‘) &Z—Qf\ﬂ’? c\c') Q(-2) ¥ I/
- 24 = |7
X L

c. y=—(x+4)2—1

}/: "/X:l-,c f}("r/é) _/
V= —~»<D- yx —l& —f
Y= X0 X -7

y= 3(x—2)2 —4
[ y=3x"—-12x+8

L’)/: 3/}<2*C/K“‘[7) ~7
y = e 1A =
>/: A 4+ ¥

JES

b. Determine the coordinates of the vertex for the parabola y =2x" —12x+19. /Q | (/ )

Explain how you determined these coordinates.
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4. The graph of the parabola y = x> —2x—3 is shown. 184
a. What are the coordinates of the vertex? / {;; - 7) 4

b. Write the equation in vertex form.

y;a(}( “,Dn\“ % _ 2:
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(c; Y%
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[= e sor o=l o Je(x-1) =7
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c. Check that the equation in part b is correct by converting it to standard form.

V= (xPdx <)Y
y: XQ' &K' 3

person left th¢ 10 m hign plat

. What is the maximum height?

K= [1§, .. Hex ze,%/ 7/ // K/m/fag

b. How long after the diver left the platform does she reach her maximum height?
// e

h=06, ¢ it Aol O scunts B feocl

sz,;éxr‘.

c. What is the y-intercept (h-int) and what does it represent?

2= (or )

) - sme) € 1

hs-5(0.3) «ll§

n=-1.§ «us A rﬂ/”%ﬁ;m S
h= (0 b
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